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import java. io. BufferedReader;
import java. io. [0Exception;
import java. io. InputStreamReader;

public class StrConvert {
public static void main(String[] args) throws IOException {
// ZEHRF 3x26 O RTE

A", b7, 767, ", "E” L 6T, L

/] BEANAMNDANEZITES inputReader Z{ERL

BufferedReader inputReader = new BufferedReader (new InputStreamReader (System. in));

System. out. print "HIEFIA S (FAXR—IRYY) = 7);
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String inputString = inputReader. readLine() ;
String[] convnumstr = inputString.split(” ”,0);

int convnumCount = convnumstr. length;

// XFEFOEFIA S EIEDE S E#

int[] convnum = new int[convnumCount] ;

for (int i =0; i < convhumCount; i++ ) {
convnum[i] = Integer. parselnt (convnumstr[il);

}
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System. out.print " AK S h-3{EIX 7);

System. out. print (String. format (“%d”, convhumCount)) ;
System. out. printIn("T9, “);

// V— FRID#F & RT
System. out. printIn(“”);

System. out. printIn(”
System. out. print ("ZE#2gT | )
for (int i =0; i < convhumCount; i++ ) {

System. out. print (String. format ("%d ”, convnum[i])) ;
}
System. out. printIin("”);

System. out. printIn(”
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String[] convResultStr = new String[convnumCount];

// EHNE —XFF DIIE

for (int i =0; i < convnumCount; i++ ) {
int idx_x = (convnum[i] / 100) % 3;
int idx_y = (convnum[i] % 100) % 26;

convResultStr[i] = StrConvArray[idx_x][idx_yIl;
}

/] E#EDOXESERT
System. out. print ("Z#atg | );

for (int i =0; i < convhumCount; i++ ) {
System. out. print (String. format ("%s”, convResultStr[il));
}

System. out. printIn(“”);

System. out. printIn(”
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